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Read each question and circle theletter of the best answer.

The drawing shows a raccoon and a groundhog walking across aroad on a straight path.
It took the raccoon 30 seconds to crossthe road. It took the groundhog 20 seconds to cross the same road.

1. Which anima moved faster when crossing the road?
a) the raccoon
b) the groundhog
¢) both animals moved at the same speed

The drawing shows Jon and Sam about to run across afield
.|-'I:I
: ‘l:'{"“ 2. If Jon got to the end of thefield in 5 seconds, and
- Sam got to the end of thefield in 3 seconds,

who went faster?

a) Jon

b) Sam

¢) They both went the same speed.
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Brittany and Mariaran arace. Inthe drawing below, black boxes represent their positions at one second intervals.
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3. How far did Brittany runin 7 seconds?
a) 7 meters
b) less than 7 meters
c) more than 7 meters

4. How much time did it take Mariato finish the race?
a) 7 seconds
b) less than 7 seconds
) more than 7 seconds

5. After two seconds, who ran farther?
a) Maria
b) Brittany
¢) They both ran the same distance.

6. After six seconds, who ran farther?
a) Maria
b) Brittany
¢) They both ran the same distance.

7. Who took more time to get from point A to point B?
a) Maria
b) Brittany
¢) They both took the same amount of time.

8. Who took moretime to get from point B to point C?
a) Maria
b) Brittany
c) It took them each the same amount of time.
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The graph shows the motion of A
an ant and aladybug walking 18
on the sidewalk in a straight
line.

The ant and ladybug are about
the same size and weight.

9. Which line shows the ant’s motion?

10.

11.

12.

The Motion of an Ant and a LadyBug

—e— Ladybug
—aA— Ant

Distance [cm)

a) -@—

0 5 10 15 20 25
b) —a&—

Time (seconds)

How far did theant travel in 15 seconds?
a)2cm

b) 4 cm

c)6cm

d) 12 cm

How far did theladybug trave in 15 seconds?
a4dcm

b) 6 cm

c)8cm

d) 12 cm

If theant keegps moving at the same speed, how far will it have traveled at the end of 25 seconds?
a)6cm

b) 8cm

c) 10cm

d) 20cm

13. Which anima moved faster?

a) the ant

b) the ladybug
¢) They went the same speed.

14. What is the best explanation for the difference in their motion?

a) Theant went farther in the same amount of time.

b) Theladybug went farther in the same amount of time.
c) Theant used moreforceto move.

d) Theladybug used moreforceto move.
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The drawing shows two toy carsthat will be set in motion with the same type of rubber band.
The two cars have the same mass but the rubber band is pulled back much farther for the RED car.

J"--., e 15. If we measured the speed of both cars, which would go faster?
= BLUE car a) the BLUE car
b) the RED car

¢) both cars will go the same speed

,ﬁ: i 16. Although the skaters start at the same time, Tara glides faster.
E\;/b | arll"lﬁ' __ Why might that have happened?
,/:' ey t:;'lfa' -,1 | a) Taraislighter than Nancy.
P . i S\ b) Tarais heavier than Nancy.
k1t ) ,I' fu_r _:I* c) Taraglidesfarther than Nancy.
| |

| d) Taraglides more than Nancy.

The drawing shows Jamie and Steve sitting in identica chairs. Jamie pushes Steve's chair with her fest,
causing both chairsto move in opposite directions.

17. If Jamie and Steve both have the same mass, who will go farther?
a) Jamie
b) Steve
c) They will both go the same distance

18. If Steve's mass was much larger than Jamie's, who would go farther?
a) Jamie
b) Steve
¢) They will both go the same distance
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a

Time1l (push)

A cart is pushed into motion by a person. The drawing shows that cart at three different timesin its motion.

19. At which of thethreetimesisthere aforce
in the same direction as the cart’ s motion?

a lonly

b) 3only

c) 1and 3only
d) 1,2,and 3

Time 3 (touches wall)

® Position 1
& Postion 2

Position 3

The drawing shows an apple falling to the ground.

20. In which of the three positions does the force of
gravity act on the apple?

a) 1only

b) 3 only

c) 2and 3 only
d)1,2 and3

The drawing shows a person tossing a ball.

2 Position 3 (top of toss)

. Position 2

21. In which of the three positionsis there an upward
force acting on the ball?

a) 1only
b) 3 only
c) 2and 3only

a) 1only

b) 3 only

c) 2and 3 only
d)1,2ad3

/?\
i d)1,2,and3
Position 1 (start of toss)
22. In which of the three positions is there a downward force
acting on the ball?
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The drawing shows a person holding two balls of exactly the same size at the top of a short ramp.
One ball is much heavier than the other.

23. If these balls are are let go at exactly the same time, what do you think
will happen?
a) Theheavier ball will get to the end of the ramp much faster.
b) Thelighter ball will get to the end of the ramp much faster.

c) Both balls will get to the end of the ramp at about the same time.

24. If the balls are let go in the same way but on aramp 100 times longer,
what do you think will happen?

a) Theheavier ball will get to the end of the ramp much faster.
b) Thelighter ball will get to the end of the ramp much faster.
c¢) Both balls will get to the end of the ramp at about the same time.

The drawing shows aworker on the Earth and an astronaut on the Moon each holding a hammer.
Theforce of gravity on the Moon is much lessthan the force of gravity on the Earth.
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25. If they let go of their hammers at the same time, which person’s hammer will hit the ground first?
a) the worker’s
b) the astronaut’s
¢) both hammers will hit the ground at the same time

26. What is the reason for your answer in Question 25?
a) mass DOES make adifference in how fast something falls
b) mass does NOT make a difference in how fast something falls

¢) theamount of force DOES make a difference in how fast something falls
d) theamount of forcedoes NOT make a difference in how fast something falls
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